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...... is & set of steps to solve & problem. ‘,e;_a&“lﬁd/ it S L LSS | 1
FE@wchart\i%g\%ﬁ @  Agorithm Z6i (©  Coding JIf®  Prototype 4 (W)

| te S IE Lt Lsif wfﬁ‘”ffdf Ebspnie| 2

Which of the following symb@( is used to connect parts of flowchart.
Input / Output u@,uifl..-gdﬂ (Q) Decision LSA«)‘} (C) Connecior /af (B) pérminal %2 (R)

Hexadecimal has total ...... \ numbers,_ BE e LS o
- 15 (D) 1> 16(B) 17 (W)
Binary valiie for Hexadecimal numbix “ F” is. | (o AL L F AITH
1100 (D) ' 1101(C) 1110 (8) 1 W
| (A.B).C = A.(B.C) is a representation of the ¢ A$(AB).C =A(B.C)
 Conductive Law | UIB¥Y & (B) | Associative Law (Jlﬁ’w’b" w

Distributive Law «F; ook : Commutative Law Jsjc/i¥ (C) "

D 6’ LLE I ..,w.,uw!.,}ﬁf »
A formal agreement between two computs s to send and receive mformatlon is called.
Receiver uﬁf J:‘: (D) Transmisgion J‘J 1 (C) Sender »3(£7(B) Protocol dﬁm Y
The ..eneeen is an amazing tool for gdmmunication. , _4—4’.13):ﬂu/_"4—£—uﬂ‘!)‘..........
Phishing <& (D) Internet &2 7 (C) | Hackikg S (B)‘ | Sﬁﬂivare)’y..’)b(A)
Lkl LIPL ot st u’f+41/w.t ...........
is cyber attacl'to make machine or network resources ungvailable for a user.

Piracy/ L7, (0) Hacking S (C)  Phishing\ & (B DOS Ut (A)

' 1 - —— attributé specifies the URL if the image. ?4.- hURL V{J"uﬂd}.‘.‘u.’
</br> (D) oc ©  <d> @\ <> W

Each table, row is defined with the ............ tag. _4_51.&&.;4;,)‘5.;6.;, ....... 76 ,;d:d:f
<tr> (D) | <hr> (C) | <di> (B) <ol> (W
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GNo.2 Wikte shor answerts 1o enviour of the followdngs  axz=b &L/ eui~ @;f.p{x(zé;;@{)fvcizf,@é; @4:// s

7 e }
- 3 Ay ¥ s « i3 ol e < ¥
Define defining & problem. o j/‘(f WS Lt

o 7 7o ; &' " & e
What is meant by Qanmd Salution? ?qgw;rt /éf@gfzﬁ*%i{ it

. Define prototype.
Convert (MS}M in to bmmy -

Hove does non volatile meiﬁ\@ry work?

| et | |
e 23S a23) | iv
3ot St | v
What is difference between Demmal and Binary system? }' &ﬁfggﬁ riﬁ(jkfﬂ ISAEA | vi

Q.No.3: Write sharl answers to éqy four of the followings 4x2=8 é{} VU%"’{ L»I/hkc’.uﬁdi@: =< yd f iy

\Y’ %dJ/IJLJquTﬂ X =g 00 ﬁamﬁi,}ééx andY | i

Write the truth table for Xand ¥ X = today is Fnday , Y =itis very cold today.
Why we used OR operator? |
What do you mean by Truth Value?
x4

| Write names of two layers of computer network mo¥el.
What is Video conferencing?

Write any two advantages of Ring Topology.

St U g TOR | ii
Tef /Lfcné’»u? s/ | i
'rbé (Layers)J /’:Luu' éf Jﬂ!tu(uw;'/‘.g{ iv

- V't et }‘ Edhs | v
i I}”L&Jyu@ vi

Q.No.4: Write short answers to any four of the fo'uowipés Np2=8 &7 elin P Lagige Sdita Al

 Define client server overuse.
Write two issues related to data security.
Define singular Tags.
Write name of two attributes of <img> tag: ._ézjf (ﬁLda{.ﬂ-szu:C.J< img >
How insert space in webpage Text?

[, 73] tag & L s Red) L A 23
ground colour Blue and fore ground colour Red o a web page?

| Write tag/ code for applying b

.,’é.f_‘...é,l i JJ{J»U:/&IK i
» .-/,j‘ rkﬁ‘fi/uj" 4—&1{? &1 ii
e JSEIE

SN S LUF | b Lo |v
i3 (Blue) K251 B oer | ¥

iv

(Partl) (oo

Note: Attempt any two qugstions from this part. 8x2=16 é{ Felizd Hyne M trolnd

Explain any four flow y‘art symbols in detail. éuy:,d:" fubﬂuh{ (Sfdwyﬁ 5 /dlr

Differentiate betw% but topology and mesh topology. 2X4 ,éo)mdlyf&{u)y./ 8 AUJlr

2X4 bl S bsl Lnto L bt rAILhS | T Ay

Write any four/examples of piracy concems arise through the mass collection of data.
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.,4-7(511 ﬁ&”}) él@ ' (,i da ufﬁiyéé( ;ﬁ fﬁ% Uz(g@ st d
T6 learn about web pa@}iﬁesigmng foliowing language is required te leam......
JAVA 3 GW BASIC (C) HTML (B)

G+ (A)
Before problem solving, we need fo first ........ aproblem.  _gbbS ... AU LSS FE S

| Process ~"54(D)  Venfcation J'u 45 (C)  Validation “4:/(B)  Analyse oA W
In flowchart symbol < is used Yg show a ...... -4.6/ b .-.w_ﬁﬁ(g < Vel f
~ Terminal (f<(D) Process .. “s4 (C) Decision making/($;l.¢ (B) Connector }C( w

The answer of (10001), will be in decima] number system b‘m,:ﬁﬁu-’-ﬂﬁdgl?w (10001)2 '

7@ / 6© 8B  B®

Binary number system has base.......... . | _ -q—aﬁ...;......ui’uﬁfﬂ'iéwét!
| 02 5 (D) 08J7(C) 16 Jr(B = 10 s

SN R PR LV ge T 95 7 RS S

Pnoposmon takes one of the two values tfue o false and these values are dalled the.........

Truth valugs ,e.,m B) Operator 2431 (A)

* Associative/Law pr st (O Commutative Law Js{gldb (C)

DHCP stands for .............. \ P DHCP
Dynamic Host Computer Protocol '(B)’ . Dita Hosting Computer Protocol (A)’
Dynamic Hub Configuration Protocol (D) Dynamid Host Conﬁgurat;on Protocol (C)

Theft crime .2¥(5.% (B) treet crime {-ZVZ(! w
Cyber Crime 17 £\ (D) sogial Crime A1/ r ()
bt b s “ bt onr e PAK
‘PAK “three character substitution to the right” results caeser ciphef retum .....\....... |
RST (D) DBO(C) SDN (B) orPQ(A)

.../.Tag is called singular Tag. -qhif k.,é .........
<BR>(D) . <TITLE> (C) < Table > (B) T \¢P> (W
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. No.2: Weite shoil anewers o eny gff’ clﬁ:gn%:tt Lot fedie AL aubye e 2 fdly
- What is mearnt by Problem Sotving? $i /(fg;‘iyf JJ/‘ i
What fs meant by Cangid solution? Cesl ot cd;,g’? fk
What is meant by Valid Tgst Data? fe-sl g7 e bbit s | i
| \Write four names of Sﬁ@ragé\Dewces £ F fﬁ‘;ﬁ AE |
. Convert (1000001); in fo decim\a[\ | | ,é /fﬁéwaf(‘i@OGODﬁz %
What is difference between memo\u and storage? te S Bl ug s |V
Q.No.3: Write short answers fo any four o{ the follovwngs ax2=8 &, e u}‘é" P4 L.hmkz_,(f Lits 34Uy
What is Boolean algebra? fesiplfet // gu:’ ¢l
Draw truth table for NOT operator. -_ﬁ—hl.k’ﬁ 237K f4si NOT | i
What is identity law of Boolean algebra? Sl IE 0BG Il AH et |
| Define TGP/ IP. Ey78 Tepp| v
| Differentiate between Sender and Receiver. ,éuw Lo Urssh i ST |V
What is the function of data link layer ? ?4_.@!@# ¥ ,.-,’...é By |V

Q.No.4: Write short answers to any four of the followjr(gs 4)(2% ,égi Uz /j L»lfbkc.d—'d’.;(w 4 / Jir

What is meant by random Caesar Cipher method ? PR P PNy (9T

How does spyware damage ?

tq-bpI L ey | i

Define nested List. Koy pbun i
g bt “4—uﬁ”é—’.‘ UEHTML | iv

What do you mean by the phrase HTML is not case sensitive”.
Define colspan. ,é..g,? Setfe | v
_Write the HTML code using jfage tag. ,q.’r‘rfﬂ HTML Z x2S IPLE | vi

(Partl) (u»

 Note: Attempt any two qlestions from this part. ~ 8x2=16 &/ felsletiknedfeit oyl

24343 _d 7P sl e SIL Ll FE GRS | 54

Define flow chart ? Write a note on any three advantages and disadvantages of flow ch

2+6 _éuya.d:" a)yj,g,,:,yqs\( By

What is mgant by Topology ? Describe Ring Topology in detail. \

2+6 oL SN T S| T
is Cybercrime? Explain any three its types.
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